01.

02.

03.

04.

05.

06.*

I T (A& 20m TAE A (o T 3 KW 97 q3f6 < 379217 341 27 | AT 75! 87.7% =0
aife ff~ we foE fifF corer T2

(a) 1610 L (b) 805L (c) 402 L (d) 201 L (e) 100 L

s1¢E: (b); P't = mgh Fea Fel, P'=(3 93 87.7%)KW

41, 3x87'7x1000x60=mx9.8x20 =[3x87'7x100[])W
100 | 100

. m=2805.408L ~ 805L ., t=1min =60s

A=t g ae 1000 km oo wfewdn gar@ 77 w97 %7 TF1E, R =6.4x10° km , T2 599,
G=6.7x10""Nm’kg™ a3 fad=sre vy, p=5.5x10kg m™.
(a) 9.8 ms™ (b) 32 ms™ () 941ms?  (d) 8.5 ms™ (e) 8.34 ms™

AYE: (e); g’ = ; G (R -h)p

=%x3.1416x 6.7x107"" x(6400-1000)x10° x5.5x10° = 8.34ms™

T B oI ST e @G 3FA REE 15 cm @R 741F 4 Hz | 3867 5414e gad vo?

(a) 94.75 mm/sec’ (b) 94.75 m/sec? (c) 94.75 cm/sec?
(d) —94.75 cm/sec’ (e) —94.75 m/sec’
TAH: (€); I TEF 999, a = —0’A =—(2nf)> x T](]i[} =-94.75 m/sec’

T SrHw@R @ F0R IT THE T 251 TOF 7 IFF 519 '8 WTS ToA2 Fed 27 | oI Sl o7
(a) % (b) } (c) 2T (d) 4T (e) 8T

PV, PV, PxV 2Px2V 1 4
A4 (d); =——= 9, = q[L —=—
T, T, T T, T T,

C=

~ T, =4T

93 I&F Srorr 9 s 50°C @ 35°C @ (i ST | FIEEIE0 TH0E SIENEl (i S 29 $97

(a) 0.03°F/sec (b) 0.04°F/sec (c) 0.05°F/sec (d) 0.06°F/sec (e) 0.07°F/sec

At AT 20235 AR p—oer - 9E_ 27 0059 /sec

0.06 m IJFIET I FHIE s 1000°C Srom@a Tee 3@ 120°C oremas 9o Ana 35 @
AT ZE | Colreraiog oref et 2@ 9792 [6=5.7x10"° Wm™K™]

(a) 5.7x10° Wm™ (b) 5.07x10° Wm™ (c) 6.7x10° Wm™
(d) 7.7x10° Wm™ (e) 5.7x10° Wm™

AaigE: (c); E = AEG(T;Id ~-T,") =4nr’ xexo (T," -T,")

=4nx(0.06)* x1x5.7x107 x (1273* =393*) =6.7x10° Wm™

AMYE: (¢);

R 0 | T



E— ) @

07. ﬂaﬁwmﬁww 40% € 37 500K SNy o oFd 09 | I a7 smwel 50% 2,
SIRLE G2, AT SN Ty NS SN T ZQ?

(a) S00K (b) 600K (c) 700K (d) 800K (e) 900K
1 (b); S o, 0.4 =220~ s s v, g5 L0 T=300
500 . T T

M, T, =300K .. T=600K
08. *tora SiFel fawd Fa1 T =@ SFe! et Jaa wAfae ety <)
(a) 50 dB (b) 53 dB (c) 3.01 dB (d) 30.1 dB (e) 301 dB

21
ATYE: (C); ﬁB—lUlng[i ]—*lﬂlng( I } =3.0102dB
l

09.* 47 (I 2fe aw%m%wwﬁm%m 6:5 SIS Sifaafe® =3 | e
*T7a (@1 332 m/sec T HEET (@ F97?

(a) 30 m/sec (b) 300 m/sec  (c) 300 cm/sec (d) 332 m/sec” (e)300 m/sec’

332
FAYE: (a); _nT=v+vs a1, L8 Y, - v, =30.1818=30 m/sec
n v-v, S 332-v,

10. @32 fre vew uft *erearas e W y=0.25 sin 316t w3z y=0.25 sin 310t | &fS et

TeAy AHT AT TS?
(a) (b) 3m (c) 3/m d) n/3 (e) 6T
sTe: (c); S 2we, 2nf, =316 1, £ =¥ wrar, 2nf, =310
1

o f':r='3‘l£)“ .‘.f'-,—f}:i:E

T 2n " 2T m

11. 100 Q @rya @3 AFEreHaiwead A 10 Q @NEd 9 30 T I G0 Sfbs Ieqa AN FIEF T4
2o | SETSIINOIs T4 e 0.52 A 2[R SANGTT (51 | TSR ToT &R F'7
(a) 8.82A (b) 5.72A (c) 10A (d) 100A (e) 4.72A
s (b); I, =——x1 . 052=—0—xI ~.I=572A
G+S 10+100

12. @26 Coo™ TR 100V FRIAR IW 4A &_R ANGAT (9T | aawe T TN AT AT TIATS
1:10 T T TR 2 Tl s o1 |

(a) 40 A (b) 10A ) 1A (d) 100A (e) 4A
N, 1 N, I 1 4
(a); —E=— ;I =4A . —2== 3 —=— - 1,=40A
@) N 10 N, I, 10 1, ="
13. «f> SR OIEE i Soid U SN OIEd (e 3 99 | O {iod @Y SN A THa JITH TS (@7 F9 |
(a) 1:2 (b) 1:4/2 (c) 1:3 d) 1:4/3 (e) 2:/3

pL pL

d

d,

. 2
o o8 gt <[] <[]
1




T ) gy §

14. 9o St @9 TG 3Q ¢ 60 | GE TN TN A 20 @eed 9w YT AN N FATCT
AT 41 I | GRS 997 (1Y 92

(a) 20 (b) 3Q (c) 4Q (d) 5Q (e) 6Q
TeE: (€); Rg=(R,”" +R, )" +R, =37 +6")"+2 =40
5. TOOW—-200V Tt a3t (agfss qmea 160V =3 0 & A0 i A0 AR 30 232

(a) 64W (b) 80W (c) 100W d) 160W (e) 200W
e (a); P=v— - r = Vo _ 007 4000 | po V7 (607 _ i

R P 100 R 400

16. @ wxwe it @ept v@e 20cm | WIS 2w Fe yim 3 3@ o e a0 AfeRE SR 98T

SIFIET HRGT A7
(a) 50 cm (b) 45 cm (c) 35cm (d) 30 cm (e) 25cm
ANGE: (e); 4=— 1+ : :l

u u 4u f
v=4u -1, 1_1 :n,l(HJ_]:L s u=25cm

u v f u 4 20

17. o0t G @R @ 19 20 cm | 1.44 afSRdices Sqe G «F (T 9 F© RA? (E0H
CoMIT Afestaens 1.50 |
(a) 250 cm (b) 240 cm (c) 230 cm (d) 220 cm (e) 200 cm
Fq141: (b); IS ¢, f‘l =(1.50-1) (l__l_J

l L I

WW,LZ[I.SO_]J 1 1) .f,_150-1
1.44 f, 150

f, L T,
1.44
s =12xf, =(12%x20)cm =240 cm
18. @36 =esr = wer + 4D | TG (AT FOLA TG A G WS Wiiead 7 G 7w
(a) 25 cm (b) 50 cm (¢) 60 cm (d) 75 cm (e) 100 cm

seE: (d); P =% S 1=0.25m =25cm

: 1_1;l=1 A, v=2 ﬂT,i.FE:L SJu=75cm »

u v f 2 u 2 u u 25

19. @26 qqAT TEw wfowTH @ ST FT Ty TGFW lem 9R 4 cm | GTH qo7 TYRET e
14.5 cm | @36 0.5 mm A @ SfSe#7 (0 1.1 cm 0@ 31 341 207 IO 6 0dia ol T

(a) 11cm (b) 3.5 cm (c) 28 cm (d) 5cm (e) 4 cm

T (e); WheeTHy 2o [Reea w3 v, ‘-'EF[,L.,.I _1 4, 1_,_ 1 21.'.v[=llcm
v, u, f v, L.1 1

it e pore e vag v, Eﬁ,i+ S S T R v, =-28 cm

v, u, ft v, 4 3.5

c

11 — 28
e, ={1-2) (1-2) < (1-22) (1-228) 50

q ¥ St o 7757 I8 e o 6@ |
S, =L—|v,| =(14.5-1))cm =3.5cm ..e¢' 5 m|x/=80x0.5 =40mm =4cm




20.

21.

22,

23.

24,

25.

26.

27.

ETR | s {1

@FN G0 FAF (W0 fo=ife 7 FoREE «fEa 5 o | /I Ffe T2

(a) ¢ f © Y8 f © 2Y6
5 5
T (), ——=5 . I’“"“';=5 A, =5 A, 25=——
Eu m,c Vl l_v_
l—c—z CE
qr, 25v° =24¢° v:¥0
736 (o3 E=25+2]—12 UBK Ezﬁf—3j+2fi T OE SRS (@1 el 59 |
(a) 77° (b) 78° (c) 79° (d) 80° (e) 81°
N A.B 4 L 4 "
(O cosb= 118 = 75440 o (21)

«3f5 @ @i v, =0.10 ms™ +(0.02 ms™)t* @Rl oI FA AX| 2sec € 5sec € WY
I T P F©7? .

(a) 2.8 ms™ (b) 0.28 ms?  (c¢) 1.4 ms™ (d) 0.14 ms‘z (e) 0.08 ms™

s14r: (d); 3 V[S; ‘:{EJ n1+n,nzx53;n,1—u.uzxz? — 0.14ms -2 ['E'i _ E adt = — fv: qv = 1&_:%]

I3 IFE G TEE e 100 m/ sec @0t Res= a1 2@ | 80 99 298m TPTe THT T T (@ TS A7
(a) 64.6 m/sec (b) 643 m/sec (c) 64.5 m/sec (d) 64.2 m/sec (e)64.8 m/sec

sgE: (c); v: =u’ —2gh =(100)° —2x9.8x298 .. v=64.5 m/sec

73 kg SEFF @I IAE 543 N ST =T G ToF e Br 200z | A\ T3 5061 ©IF IF 8 (IR
TS 91 7Ze 0.53 | IACHA T T2

(a) 224 ms”  (b) 0.224ms™ (c) 484 ms”  (d) 0.448 ms” (e) 3.38 ms™

AgE: (a); 2 F=ma ¥1,543-0.53x73x9.8=73xa [+ F =pn,.R =p, mg]

a, F-F, =ma ..a=224ms™

93 3 2.5 m IFTE Rf*2 Jerem o ofs G 100 39 I=eT 0 | 97 @RS @ 792

(a) 2.50 m/sec (b) 1047 m/sec (c) 26.18 m/sec (d) 100 m/sec  (€)13.09 m/sec

EHN.I' =2Rx100x2_5 .'.V=26.18H]S_1

t 60
45450 T v AIC], Beiq w47 facy 2R sateT & sifamner syrfafsam shwice st 201?

(a) 1271gm  (b) 1.27 gm (c) 6287 egm  (d) 4.23 gm (e) 0.423 gm

AMLH: (C); v=wr =

sargrE: (d); AlYT +3e” — Al " (3x96500) =7 o1t &1fE® Fa0T 27gm Al T W
+ iile Zigm -, 45450 T b eraifes FATT 2000020 o Al e
= 3 Faradays 3x96500

=4.238 gm

pH 5 R <o I g aFe $are TUHie e @ crfeam MG & wieis fiffe wwe 72 [p* = 4.8]
(a) 0.35:1.0  (b) 0.63:1.0  (c) 0.58:1.0  (d) 0.81:1.0  (e) 0.48:1.0

e (b); pH = p* +logoad . [ACIA]_ ¢ 635 5 _ 4 84 10g 58U
() pH =p* +logr 41 [sat] T8 Acid]




IR ) & U

28. fira vz @@ —902.5 KJ mol™ =& 2050 KJ ©t+t Ty Ao T offawe wiRree e v
TS ZJ?

(a) 14037 gm  (b) 14537 gm (c) 14737gm  (d) 150.50 gm  (e) 118.85 gm
Famm: (b), CH,,, +20,,) — CO, ,, +2H,0,,,; AH=-902.5 KJ

64 x 2050
=145.37
9025 ° =

29. 410 K <@y HI 35% fRenfere =) K fadfrsa
(a) 0.07248 (b) 0.2024 (c) 1.095 (d) 1.5x107° (e) 1.5x107
A4 (a);ﬁﬁFﬂTQPH#HE + 1,
AT T9F]: 2a 0 0

B IICEAR 1.33  0.35a 0.35a .. cSIG &=y = 2a
0.35a 3 0.35a

=—28___2a__(07248
%)
2a
30. ;4 Np*' @7 @F® S 237.25 amu @ ST FH IO A2 feGw, @b 8 IeET o9 g
1.0089 amu, 1.0078 amu <32 0.00054 amu |
(a) 1.7570 amu  (b) 2.0572amu (c) 1.8072amu  (d) 2.0070 amu (e)1.8572 amu
AYM: (C); 9T, ¢~ @I P a7 93 @32 93 | -, GG 97 7= =144
.. S&FT =[(93x0.00054) + (93x1.0078) + (144 x1.0089)]— 237.25 .. ©a&® =1.8072 amu
3. CTCTa “ANee W 1 1. 9F Qe CSHAN *aNre 3 o JEAGT A2
(a) 5.4869x107"°gm (b) 1.0974x10™" gm (c) 6.0356x10~gm
(d) 5.4869x10~*gm (e) 1.0974x107 gm
T4E: (¢); 1 mole GSHIT “=ueTe G 7T 6.023 %107 x11
" 6.023x 10 egesa &7 = (6.023x10” x9.11x10 x11) gm  =6.0356x10" gm

32.* @3fo 92 Srom@m A waeea 0 5% 20 Pa. 993 SoN@T A s B SACET AN AW Jreg (15
A 517 105.25 Pa 2o ([79% <30 B a9 I 519 3(97?

(a) 190.50 Pa  (b) 18650 Pa  (c) 21020Pa  (d) 200.15Pa  (e) 40.05 Pa
TE: (a); P=P°a X, +P%. X,

. 2050 KJ o7 Sy v ee O, QTS

Py, x P,
P (PH[ )E

T, 105.25=20%0.5+ P x0.5 [ x, =—° =05, x, =1-0.5=0.5]
0.5+0.5
.. P°s =190.5Pa
33. & W a7 79 [Rarees e @mit? [ Ans: c]
(a) NH,Cl + NH, (OH) + H,S (b) NH,Cl + NH, (OH)
(¢) NH,Cl+NH, (OH)+(NH,),CO, (d) NH,Cl+NH, (OH) +BaCO,

(e) Dil.HCI +H,S

T | |




34. @i e Ry feaes @ 0.1 mol.dm™ | RfEwfs @t &< 4.2x107° mol.dm™ min™ ==
%o fifas Rferes sww@r .02 mol.dm™ Z+ =12
(a) 4.76 min (b) 2.38 min (c) 5.58 min (d) 3.45 min (e) 6.34 min
AC AC 0.02

FagE:(a); k=— A, t=—= 9, t= — =4.76 min
t k 4.2x10
35. fireg it 9= 91 ubifes sede a7
(a) K,O (b) NO, (c) SO, (d) P,O; (e) CO,

warg: (a); K,O S&m 73 |
NO, szt — NO, + H,0 = HNO, + HNO, ; 2NO, +2NaOH — NaNO, + NaNO, + H,0
SO, wE«dt —» SO, + H,0=H,S0,; NaOH + SO, — Na,SO, +H,0
P,O, w=¢ft — P,0, + H,0 =2HPO,, P,O, + 6NaOH —~—2Na,PO, + H,0
CO, Wz« —» CO, +H,0=H,CO,, CO, +2NaOH — Na,CO, +H,0
36.% B WFA [ OIAIR (RS PR AR (ABITSN) ATF?
(a) 1-1.15%  (b) 2-45%  (c) 0-04%  (d) 0-0.1%  (e¢) 7-8.5%
T4 (b); CIER ENECe W SAmmerar AR 3
FE — 2-4.5% PifFes - 1-1.5%
s — 0.4% FEar— 0.1%
37. 12.25 gm Na,CO, & F=fiace exifie Fate o am HCl #meiea?
(a) 4.21 gm (b) 8.20 gm (c) 8.25 gm (d) 8.43 gm (e) 4.25 gm
FargE: (d); Na,CO, +2HCl — 2Na(Cl + CO, + H,0

106gm  73gm
73x12.25
S Whe = 106 gm = 8.436gm

38. Tl “&fere 8.32 mg WA W 21°C oM@ @ 760 mm St 1,11 cm’ RGeS sfnew
Co1eT | RGBTSR *1o3a1 TR [y 371 (21°C @y & A== 519 17 mm) |

(a) 12.15%  (b) 6.54% () 2005%  (d) 15.12%  (e) 5.64%
sr: (d); PeVo - PV o 700xV, _ (7O0-1DxLIL . 1 00765 cm?®
T T 273 294
ST.P to 1.00765 cm’N, @7 &= 23;;’3365 em =1.25957x10™gm =1.25957mg
2% N=22237, 100=15.12%
39. fFaw —114 937 IS T S
Cl ] F F F
) | o |
@C-C—F ®F-C-C ©F-C-C-F@F=-C=Cl (¢)[F,C—CF]
Cl ~F cl F
I (¢); CFC — abc WA -
SR AR/ =a+ 1 2| TREITE 724 = b — 1 o Fiff =c

~ CFC114 @ &7 f5, arifem 8f, 3w@icew 131 afeer @ffd ~ (c) 70T S |




e mere SRR

40. =ia @ [Tt 7w [ Ans: d]
(a) C;H, NH, + NaNO, + HCl — CE_HSNCI +H,0 + NaOCl
(b) Hg,I; +2NH, = NH,[Hg,I,]+ NH,I
(c) C¢HyNH, + NaNO, +HCl — C,H,NCl + H,O + NaCl
(d) 2Hg(NO,), =2Hg +4NO + 20,
(e) 2KHgl, = 2KI + 2Hgl
41. 15 ml AR @ffe 125 gm Ao Bags =1 EAGRE @E-ge Fe 2@ H,SO0, @7 %79 1.98 gm/ml.

(a) 0.978 (b) 0.095 (c) 0.958 (d) 0.021 (e) 0.041
e (c); H,S0, @a=a, W, =(1.98x15) gm =29.7 gm
125
18
IRICT] -97) (FIE ST = =0.
(H,O ) QT 125 297 =(0.958
18 98
42.% 27°C Sromam @36 e I e et afs Gets 48362 cm 2, sifee S o9 997
(a) 28 (b) 29 (c) 32 (d) 36 (e) 44
ST (€): C — RWT . 48362=J3x3.316;10?x300 - M=132
43. QI M RIS @l (@R e Tor e 1 R wwene 3l 3f wiad ware vl o waw oy
(a) 1 (b) 3 (c) 6 (d) 9 (e)2

FgE: (b); ==t @i, 2mr =nA

n=3 X, 2nr=3A

;. oF THART Afafe =3

WOWT, OF FEATY ATSTE WG e Zteragao 3 o off waor 32 37 |

44, o= TER BT 99 | WEsream ST Arera T fAifee Sl z6- [ Ans: d]

(a) SIHt 0o (b) FgE C@e (c) &Y CoeT (d) I (e) o5
45. ©mel ¥4 (washing soda) @ s “fifea «iffme 62.94 % e, AMIGTS 2N e Wew w7 fefr @7 |

(a) 5 (b) 7 (c) 8 (d) 10 (e) 12

T (d); Gel =itas Fee Na,CO,.nH,0 :

. GITS] e WHRE S = (106+nx18) .-, (ISl e «fifera *rowwan sifewyer — 01X 18x100

106+nx18
g, 1x18x100 _ 94 - n=10 (@) -
106+nx18

46. W A, WA @TH @ OIS AR WA T W6RE ©1 2.0 kg, *TFER IT9 @d2 519 TG
1.5 kg/m’ @32 1.1x10"Pa | 7087 (05 Sl F7e?

(a) 1.66x10’K  (b) 6000°C (c) 9000°C (d) 1.76x10°K  (e)1.96x10°K

saigE: (d); PV =nRT ﬂ,PVz%RT ﬁT,PM=%_I——.RT A, PM =dRT

PERi T=1.76x10°K

1
T

EEER | T




ETTTR e G (W

47. 500 ml SISt @36 wEErs T @3 7 fame [Sew aw Mefee e 320 sec IH (W | @ G2 SN
G2, UF3 B UF2 Werd @ifas Fenfae e 240 sec I (¥ | T&IS AFPMod WEAfe o7 71?
(a) 110.25 (b) 126.22 (c) 150.35 (d) 175.21 (e) 191.12

f 2, 240 } M, =126.22
' 320

48. 0.04 M wﬁﬁaﬁm (Oxalic Amd) 300 ml 52¢ todt Fare & sifawrer s3nfe e e 23y
(a) 1.08 gm (b) 0.54 gm (c) 0.75 gm (d) 1.51 gm (e) 2.16 gm
s (a); 0.04M 300 ml H,C,0, =0.012 mole H,C,0, =1.08gm H,C,0,
49. 45 ml STOEE TGS NF THELTH (@IF TLHANT SRS F90S g Aerreiie ufie e 27 ml wrrews
0.3 M KMnO, 53¢ &taes 27 | @ =@ H,0, 99 GIeTd 9@t 2092
(a) 040 M (b) 0.50 M (c) 048 M (d) 045 M (e) 0.53 M
sgE: (d); 2KMnO, +3H,S0O, +5H,0, —» K,SO, +2MnSO, +50, +8H,0
- VXM ((KMnO,) _ 2 o 27x03 _2 . . —045M
V,xM,(H,0,) 5  45xM, 5
50. =g HCl 97 T-if3feres @wafie ufse ¢ e v [y f¢ Sevg za?
(a) @aETeRIZT (Benzaldehyde) (b) 32rzer anifes (Ethyl acitate)

(c) 213e @=ecas (Ethyl benzoate)  (d) @itanastes (Chlorobenzene)
(e) TA3A @& (Ethyl benzene)

MRIEICK (b)

TIHE: (c); @— COOH +C,H,; ~-OH—=— {O)— (HJ—OCEHS +H,0
EEGRE aPTe  2AIEE SRR Y[R (qSAD
51. 'INSTITUTE ' *=ioq Sraefens T o< A @re SAd e TG (S1G FW WE FA017?
(a) 250 (b) 240 (c) 280 (d) 380 (e) 440

g (b); e 4 6

I
415 & I 4 6 993 I/ T %:12 SItd

5!

w_E, IR 5 Few Sﬁaﬁwmﬂm?—sxdf 20 '

', GG A 7R/ =20x12 =240

52, 'm sec 0-tan 0 - e - [ Ans: a]

B2 tan O

3 3 ] 5 ]

i 2 hl d) 2 e) —
("ﬂl)2 (b)5 (C)2 ()7 ()5
N (a) im sec’@—tan’® . 1—sin’0

07 tan O 6-2 cos” 0.sin O

im (1—sin®) (1+5inO+sin’0) , 1+sinO+sin*6 _3
0% (1+sin0) (1-sin0).sin® o= sin® (1+sin Q) 2

s




ffAmiIe B8 engames g @ 2 S KUET, CUET, RUET &9 8 TI4TS

53. I y=sin3xcos2x ©W@ y, &I I AA &ML

nm |

(a) % 5° sin(?+x) (b) sin(nm+5) (c) Ecns(sgn]

(d) —sinv"—:IT (e) 1 5° 51n(ﬂ+5x]+sin o7 L x
2 2 2 2

. . . 1 .
ANYE: (€); y=sin3X.cos2x = %[sm SX+sinx] ..y = 5 5" sm(—nz—n +5x] + sin [? + x]

54. [e*(tanx +logsecx)dx @7 T TG

(a) e* logsecx +c¢ (b) e* logx +c (c) e log2x +c
(d) e* logsinx +c (e) e logtanx +c¢
sec X tan x

ﬂ;ﬂTﬂm: (a); Let, & logsecx =z ::{E" +¢e” log sec x)dx =dz

SEC X
= e" (tanx +logsecx)dx =dz
_['e" (tanx +logsecx)dx = Idz =z+c =¢" logsecx +c (Ans.)

]

55. | — 497 T T

, e +e

(a) tan™ e—% (b) %tan"e (c) tan"'e—n/4 (d) tan™ e—% (e) tan~' e**

]
G (C); I o -I AL [tan"e"‘],]} =tan" e — =
e +e" (€)% +1 4

56. |—— dx @3 ey

Ox" +

1, i , ] e 4 BX° I 1 & 3% 2 1 . 3x*+2 -
a) —tan —x~ (b) —tan — —tan~ —x~ (d) —In In
A TRl S AT i e A L G oy Oy
2
HATY (b),_[ 4}{ =l lj =3 5 . =l.§.ltfm'1 J{—+1r: =Ltan"3i+c
Ox" +4 9 2 I ) 922 2 12 2
() +| £ &
3
57. x4 97 GFR @2
X
‘ 3
(a) 2 (b) | (c) -2 (d) -1 (e) >
FIYMF: (¢); y=:~;+-1— s (x) = 1——- f"(x)—
X x*
Wﬁ@ﬂﬁuﬂaw, l—iz=0 SoXx =1
X

SFACTE &, X =—1 [+99 x =—1 7071 £"(x) < 0]

o S =—l+i1=—2
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58. tancot™ tancos™ x €F N @FHH?

(a) x (b) v1-x? (c) Jle (d) Jli? (e) \/117
— — X

] —x° ; 1 - x2
FWIE: (c); tancot™ tancos” x = tancot™ tan [tan“ ]

X X

2

X X
= tan cot™ —tan tan" =
X J1=x%  A1=Xx°
59. lécﬂsz—ncasd'—ncos--g—n— ct:}sE G I (A0 ?
15 15 15 15
(a) | (b) —1 (c) 2 d -2 (e) 1/2
s14re: (a); Use Calculator.

60. sinOsin(60° —0) sin(60° + 0) ¥F TF FAL?

(a) sec20 (b) tan 36 (c) sin20 (d) isinBB (e) %CGSZB

sara: (d); sinOsin (60° —0) sin(60° +0) =sinO(sin® 60° —sin* O)

2 . _ . 3
=sin9[[-§} —sinzﬂ} :3511'19 4sin” 0 =%sin39

4

61. W cosx+cosy=a @GR sinx+siny=b WS cos(x +y) 99 T FMHD?

a’+b’ a’ +b’ a—b a+b a’—b’
- b C d e) —
(@) a’—b’ () a—b ()a+b ()a—b ()a*+b2
T (€); a=cusx+cﬂsy=2cusx+y.cnsx_y
b=5inx+5iny=25inx+y.cusx_y
x+yY b?
tﬂle-I_y:E . 1—[tan- 2 ) _1_? _a’—b?
2 a C.cos(x+y)= =T ST
1+(mnx+yj 1+
2 a
62. 5x+4y—3=0 @R Ty—6x=5 @IHET @RI @R x+y—3=0 E@E TAT 77 @IF FAF
(FH?
(@) 11x+11ly—8=0 (b) 30x—-28y+15=0 (c) 11x—-11y+18=0
(d) 59x+59y—-12=0 (e) 59x —59y+42=0
WW:.(E); 5X+4y~—3=0 g Ty—6x =35 Wm (519! :3]

SLoX+y—3=0 TNE T T @I =1

-, o @R S, 43 (K_L] - 59x =59y +42=0




64.

65.

66.

67.

h; @ 2 { o Sin i KUET, CUET, RUET & 3 JH14d
SRS S L NN

2X+by+4=0,4x-y—-2b=0,3x+y—1=0 @I oA AT 2T b I TT I ¢

5 2 3 ] 2
a) 3, —— b) 3, —— c) 2, —— d) 2, — 3, —
(a) 3 (b) S (c) - (d) : (e) -
2 b 4 5
TAI4E: (a); 4 —1 —=2bl=0 I, 24+4b—6b° +4b+28=0 ..b=3 Wt b:—g
31 —1 |

ABC fagres R gmms wiwmw A (0, 0),B(, 5) and C(—2 2) T A gt BC @ o

(a) x+y=0 (b) x—y=0 (c) x+2y=0 (d) 3x+y=0 (e) 2x+5=0
A (0, 0) |

TAYE: (a); /\

C(2,2) D B(l,5)

S—2
Mac =115 -
. AD @R AN, y=—X A, X+y=0

8x” +9y? =162 Toigaty Suafae! zre ¢

Som,, =-1

I 9 | 2
(a) 3 (b) - (c) = (d) 32 (e) =

3 2 ; 9

Y 162 162 1 1 1

= = _ |8 9 _

sis: (b); 8x” +9y? =162 =, 152 62 =] o= | B0 .e- B9 2
8 9 \ '8 \ 8
3 A=2i—-3j—4k a9 B=i+]—5k T oRE A T %@ B 97 ST TR 2
19 19 19 25 25
a) —— b) — c) —— d) — e) —
()\/f ()29 ()\/2—9 ()m ()m
AB 19
YIS (C), BcosO=—— =——
A| V29
ABC fagrem A, B, C @ifds el zwe e [{e@fre aeg 899 7@ e e P,Q, R Ioew
AMRET A3 P:Q: R @F I F97? \
(a) 2b:c:a (b) 3c:a:b (c)a:b:c (d) a:2b:2c (e) 3a:b:4c
AL (¢);
B
R
I Iq 2O, Q9
K> sinEOF sinFOD sinDOE
P __Q __ R P _Q _R

¥

sin(m—A) - sin(n — B) ~ sin (t—C) ~ sinA sinB sinC

T=IT,P Q_ R : b =,L=2R ~P:Q:R=a:b:c
a b c sin A 5111]3 sinc

ECCNR | o L
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68. IW TG fags ABC @3 AB,AC 8 BC I} IJ[RT TARFT 4,2 OR | 9T W= 97 fFaRe A

IR0 TEGTEAIT FGd T J 8
a) 33 (b) V31 ©) 2+/3 d) 3 (e) V43
TdE: (a);

R cos® =1cos0+2cos(360—60) +4c05240=0
Rsin® =1sin0+ 2sin(360— 60) + 4sin240 = —3+/3

“R=+0+(=3v3)2 =33
69. 16 T < 8 12 &= IR G0 AfSHINET Tz Fa0e, 9 T AT 8 GFH AT BTew zemw

AEYATS] 2+ 8
6 ] S 12 16
e b) — il ki ==
(a) - (b) - (c) &3 (d) (e) a3
16 12 16
AAIYE: (&); 96 I oW 8 3o e /ST = et = T 57 5

70. @3 I 20 FOE T W30 IE TS (I 37 9B e 3m/sec’ B0 DR orbice @ifsler | 26
13m/sec IR MTCTS AT FOH AT I ZfAAE 420 AFE?
26

(a) 2sec (b) 12 sec (¢) 10 sec (d) 20 sec (e) 3 SEC
AL (C); 2[)=~:15:5.th2 — vt =%;~r:3t2 —13t

-4
A, 40=3t* -26t 1A, 3t —26t—40=0 -t =10 sec, A

A, 3t° —30t+4t—-40=0 1, 3t(t—10)+4(t—10)=0 | ..t =10sec [¥IGT T ZIA]
A, (t—10)(3t+4)=0

71. 5+12_1 a9 INIE 102
3-4
(a) —1+3i (b) £+2i (c) +[4 71) (d) i(l+gi} (e) £(-3+41)
7 5 2 3
5+121 ' ‘ 7 ‘ ' 1)° 1)’
ST (C): 1 (5+‘121) (3+41? =561 33 _ 4~ +2.4.71+ (71) _ (4+171)
3—-41 {3-1(4)} (3+41) 9+16 25 5
JS-’:—IZI =i(i+31]
3-4i 5 5
72.* 1+ 12+ 14+ Iﬁ+ ......... oo (oY @MTe @EL?
3.2° 527 7.2
(a) loge 2 (b) lagﬂé (c) log.5 (d) log. 3 (e) lngc%

A (d); In 3 =ln(E)— G) =1n(1+l)—ln(1—%) = G_ﬁ*-z;_z)— _%_2:.2_2:.3 )

1 1 1
_2(E+3.23+5.25+ ) ln3—-1+—-+ﬁ+




1 bc be(b+c)
73. |1 ca ca(c+a)| 93 IF EAHG?
1 ab ab(a+b)

(a) -2 (b) 2 (c) —1 (d) 1 (e) O

2 B KUET, CUET, RUET &5 8 T

TYE: (€); a+b=—c, b+c=-a, c+a=-b Jeoar bz 0 |

b
74. p @W@IFAFS A (p—1)x* +2(p+2)x+(p—3) 7B @3 4f =of 2
8 1 1 7
a) — b) —— — d) — 8
()? (b) 2 (E)8 ()8 | (e)
TE: (b); 4(P+2)° —4(P-3)(P—1)=0 31, P*+4P+4—P2+P+3P—3 =0
<N, 8P+1=0 - p=—.
8
-—-:ns"[ll
75. I f(x)=lhe * v f(2) 97 T @WG? .
(a) €' (b) e © - @7 (©) %
'ms_l(:{] f a1 n
T4E: (¢); f(x)=1Ine =—cos |— [.I [“Ine=1] ..f(2)=-cos S =—§
X
76. "Every one should repent ............ his/her evil nature”. Choose an appropriate preposition to
fill up the blank space. [Ans : d]
(a) to (b) for (c) about (d) of (e) with
77. "Let’s better our condition”. In the sentence the underlined word is used as [Ans : c]
(a) Adjective (b) Noun (c) Verb (d) Non-finite verb (e) Gerund )
78. "Bangladesh went in first on a very wet wicket, and so they lose the match”. Which
underlined part of the above sentence is incorrect? [Ans : €]
(a) Bangladesh (b) in (c)on. (d) so (e) lose
79. Find out the correct translation into English of the sentence..... “Wge] M9E7 T4y (50T 3w A= |~
(a) Something of the poet is there in the hearts of the kind people |Ans : e]

(b) Something of poet is there in the hearts of the kind people
(c) Something of the poem is there in the hearts of kind people
(d) Something of poem is there in the hearts of'kind people
(e) Poetry is always in the hearts of the kind people
80. Find out the correct translation into Bengali of the sentence.... "It might have rained that day, I
should have taken an umbrella with me”. [Ans : d]
(a) v 3B 2CARTE!, W =T (1 Bftw & |
(b) T I8 Zr “irTS!, ©12 SR BT (FAIGT Ao f |
(c) T g =afw, o3 =iy grer 1t ey Picafeny |
(d) T 3 =Te sArceT, s e fiet «af® gt sed fce e
(e) TIf= I raferer w3 SR w1z @36 Trers e |

EIEEE | | T
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81. Find out the correct one from the following sentences: [Ans : a]
(a) I like walking, gossiping and singing (b) I like to walk, to gossip and to sing
(c) I like to walk, gossiping and to sing (d) I like walking, gossiping and to sing
(e) I like to walking, gossipings and singings

82. Which of the following sentences use the correct form of conjunction? [Ans : b]

(a) Hardly had we reached the station than the train left

(b) Hardly had we reached the station when the train left
(c) No sooner had we reached the station when the train left
(d) Scarcely had we reached the station than the train left
(e) Scarcely had we reached the station before the train left

83. The active form of the sentence- "They were made to go home by him" will be- [Ans : b]
(a) He made them to go home (b) He made them go home
(c) He made them going home (d) He made them gone home
(e) He made them to have gone home -

84. A good student must know ............... [Ans : C]
(a) to study hard (b) to be a good student
(c) how to study effectively (d) the way of efficiency in study
(e) efficient study method .

85. Where lays the mistake in the sentence.... "They saw me write." [Ans : c]
(a) Subject (b) Principal verb (c) Participle (d) Gerund (e) Preposition

86. The correct masculine gender of "witch” 1s [Ans : b]
(a) witche (b)wizard (c) mank (d) priest (e) witchist

87. The correct plural form of 'erratum’ 1s [Ans : a]
(a) errata (b) erratumi (c) erratumes (d) erratum (e) erratumee

88. Identify the one underlined word or phrase that should be corrected or rewritten. She 1s looking
forward to go to USA after she finishes her studies at the university. [Ans : b]
(a) looking (b) go (c) finishes (d) her studies  (e) at the

89. Choose the one word or phrase which would best keep the meaning of the original sentence if it
were substituted for the underlined word or phrase. The old hotel has recently been renovated.

- [Ans : d]

(a) repainted (b) refurbished (c) reiterated (d) refurmished  (e)reconstructed
90. "Man has not been able to conquer nature .......... ”, Choose a word or phrase that best
completes the sentence. [Ans : e]

(a) Beautifully (b) Hard (c) Charmingly (d) Mockingly  (e) Completely
91. "Study carefully and cut a good figure in exam.”. Which one is the correct complex form of
the following sentences? [Ans : d]

(a) Study carefully as you can cut a good figure in exam.
(b) Study carefully when you can cut a good figure in exam.
(¢) If you are studying hard you can cut a good figure in exam.
(d) If you study carefully you will cut a good figure in exam.
(e) A good figure in exam. depends on when you study much.
92. What kind of parts of speech 1s ""Friendly”? [Ans : a]
(a) Adjective (b) Adverb (c) Preposition  (d) Noun (e) Conjunction
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93. The antonym of the word "Stationary” is- [Ans : d]
(a) writing materials (b) staple (c) virtue
(d) mobile (e) faulty

94. "I'have read most of the works of Shakespeare”. In this sentence "works” is used as [Ans : d]
(a) Adverb (b) Adjective (c) Reflexive verb (d) Noun (e)Transitive verb

95. "Since you have already decided, ............ you ask my opinion?” Choose one word or phrase
that best complete this sentence. [Ans : a]
(a) why do (b) why (c) don’t (d)do (e) why did

96. The tag question of "He and 1 visited the museum last week” is - [Ans : c]
(a) didn’t he? (b) didn’t I? (c) didn’t we? (d) don’t we? (e) won’t we?

Questions 97 to 100 are based on the following reading :

Climate change is caused by green house effect, where certain gases, known as green house gases
(GHG) trapped radiation from the sun. Scientists have known about the green house effect since
1824, when J. Fourier calculated that the Earth would be much colder if it had no atmosphere.
This green house effect is what keeps the Earth’s climate livable. Without it the Earth’s surface

would be an average of 60°F colder.
Some GHG such as water vapour, carbondioxide, methane, nitrous oxide and ozone, occur
naturally, while other results from human activities. Very powerful GHG that are not naturally
occurring include hydro fluorocarbons, per fluorocarbons and sulfur hexafluoride. Human
activities have upset natural balance of GHG which is resulting rapid change to the global
temperature. This will effect rainfall, temperatures, extremes of weather and sea level rise.

97. Main GHG those occur naturally are................... [Ans : b]
(a) water vapour, oxygen, carbondioxide, methane and ozone.
(b) water vapor, carbondioxide, methane, nitroius oxide and ozone.
(c) water vapour, carbondioxide, methane, nitrogen and ozone.
(d) oxygen, nitrogen, methane, carbondioxide and carbon monoxide
(e) various hydro fluorocarbons and sulfur hexafluoride.

98. Which one of the following sentences is not true? |Ans : b]
(a) Earth’s would be much colder if it had ho atmosphere.
(b) Climate change is caused by the direct radiation from the sun'
(c) Scientists have known the green house effect since 1824.
(d) Green house effect keeps the Earth’s climate livable.
(e) GHG trapped radiation from the sun.

99. There is a rapid change of global temperature because [Ans : c]
(a) Super cyclone sidr occurred in the Bay of Bengal in 2007.
(b) GHG decreased considerably in the recent years.
(c) Human activities upset natural balance of GHG.
(d) Tsunami occurred in the Indian Ocean in the year of 2004.
(e) Natural increase of GHG in the atmosphere.

100. Which one of the following GHG occurs naturally? [Ans : a]
(a) methane (b) oxygen (¢) sulfur hexafluoride
(d) hydro fluorocarbons (e) per fluorocarbons -
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